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Topic:- General Knowledge and Logical Knowledge

1) If MONKEY is coded XDJMNL, then how will TIGER be coded? / “Clﬁ MONKEY &1 XDJMNL &

Fifegd forar oIman 8, 9 TIGER ®t &3 Sifsd farar swrhm?
1. SHFDQ
2. QDHFS
3. QDFHS

4. SDFHS

Correct Answer :-

2) The term ‘Grand Slam’ is associated with / e "I T’ TN Safida g

1. Football / edidl
2. Boxing / HacleﬂT‘?ﬁ

3. Kho-Kho / =141
4. Tennis / A9

Correct Answer :-

e Tennis/ RiER|

3) In a certain code language, moz lam kar means good little dress, jic kar pey means boy looks good, pey
nip deg means nice big boy, gon pey lam means little boy ran. Which is the word for dress in that code
language? / Uh WTH BIS HTUT ﬁ, moz lam kar &1 3 good little dress; jic kar pey ®T 3 boy looks
good; pey nip deg BT 31 % nice big boy; gon pey lam BT 3 o Jittle boy ran 'Eﬁ?ﬂ %I | IS HTUT H dress &
fore forar <1eg o1 gt fram e B2

()



1. lam
2. kar

3. moz
4. pey

Correct Answer :-

4) How many different 5 digit numbers can be formed from the digits 9,0,4,1,6 ? / 3i®dl 9,0,4,1,6 ﬁ 5 3l

areit fopat dwemy ffHa gt w82
1. 120
2. 90
3. 84

4. 96

Correct Answer :-

« 96

5) Which team won the FIH Junior Hockey World Cup —2016? / mmﬁwmmaﬁﬁg
P - 2016 SHAT?

1. Pakistan / OTfcb<cT
2. India / HIRd

3. Belgium/m

4, Australia / H\@\ﬁfﬁﬂ

Correct Answer :-

¢ India/ HRd

6) In throwing of a dice, what is the probability of getting 4? / Th i1 Bp H 4 HaR 3 $ fpa-t

YT gl 22
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Correct Answer :-

7) Who was the Chairman of Committee on Digital Payments? / f&sitca WWW% GT‘EI[&{@T{
+?

1. HR Khan / Td 3R W+

2. Ratan P Watal /Wtﬁw
3. Nilesh Shah / i< ]M§

4. B N Satpathy / & T I@13!

Correct Answer :-

e Ratan P Watal /Q_CFTT-?[EIEFT

8) Simon wants to go to the market to buy some clothes. He travels 3 km to the left and then he turns right
and goes 2 km before turning right again and goes 4 km. How far does he travel to reach the market from his

home? / ATSHA $B HUS WG & (o8 ITAR o1 A1gdl 2 1 98 3 forht. 918 sk o 8 ik b 9%
1S 3R Yeov 2 fopaft. Sirar @ 91 fh= 18 ok He 9 usd 4 fheft. Smar 81 39 oA TR 9 9WiR
TgT & fore it gt aa = usdl 82

1. 12 km /12 fopdit
2. 5km/ 5 it
3.9 km /9 fooait
4.3 km /3 Topmil

Correct Answer :-

« 9km/9 fat

9) Who is the first Indian president to visit Nepal in the last 18 years? / fUod 18 auf # Aure &1 ?.‘a?T

F AT UIRA P UG IPUT DI A2
1. Prathibha Patil / GfdyT O1fe @

(4)



2. Pranab Mukherjee / WH@\_Xﬁ
3. Ram Nath Kovind / I 91Y $Hifdg
4. APJ Abdul Kalam / TUIS 3fsgcl ey

Correct Answer :-

 Pranab Mukherjee / Ww

10) Who is the first Vice-Chairperson of NITI Aayog? / ifer SmanT B1 g dIl SUTHEl DI %?
1. Arun Shourie / 30T YT

2. Raghuram Rajan / XYRTH o9

3. Arvind Panagariya / 3RIdg gmiar

4. Arvind Subramanian/ 3RdG gFATIH

Correct Answer :-

« Arvind Panagariya / 3Rfdq U=TIRaT

11) Who is the Chief Secretary of Madhya Pradesh? / 7 WSRT T Y& TRIG B 32
1. Rishi Kumar Shukla / 3518 $HR el

2. A P Shrivastava / T.UT. SldRda

3. Anthony JC DeSa / QYT St S¥IT

4. Basant Pratap Singh / SRId UdTd Rig

Correct Answer :-

o Basant Pratap Singh / 9Yd Udmg ﬁl%’

12) Which was the first talkie movie made in India? / HIRd o fAafda UYH m oo a'ﬁ:f It A2
1. Alam Ara / 3TcTH 3IRT

2. Kisan Kanya / [CRISERI

3. Rala Harishchandra / ST SRREE

4. Mother India / HaX —&"%TIT

Correct Answer :-
e Alam Ara/ 3TcTH 3RT
)



13) Which district of Madhya Pradesh is famous for mustard and honey production? / & USRI BT

HI-41 foren TRl ok Weq & Iared & g ulkis 32
1. Morena / HIRAT

2. Dhar / 4R

3. Shahdol / qMESIA

4. Betul / S

Correct Answer :-

« Morena / FAIRAT

14) When was Madhya Pradesh given the status of a full-fledged state?
/ A USRI B Ha YUI-qHIId I BT Goit faaT 12

1. 11th May 1957 /11 -Id¥sX 1957

2. 1st November 1956 /1 -IdIR 1956

3. Ist November 1945 /1 Id¥s} 1945

4, 31st November 1956 /31 Id&IR 1956

Correct Answer :-

e Ist November 1956 /1 IdtR 1956

15) Armed Forces Flag Day is observed on / HRI¥d T A feaw 59 fafy P HETIT ST 8:
1. December 4 / [GTTeR 4

2. October 8 / 3{dgdX 8

3. September 15 / R 15
4. December 7 / [&TwR 7

Correct Answer :-

« December 7 / feOR 7

16) National Safety Day is observed on / Tl@’q gt feaw P AT 1T 81
1.March 4 /4 A

(6)



2. November 10 / 10 JdR}
3. August 15 / 15 3{Td

4. July 6 /6\‘:]3’11’5c

Correct Answer :-

« March4 /4 A&

17) The Chief Justice of the High Court is appointed by / i S & qBT raTei=T S
i feae R &1 et 82

1. Chief Justice of the Supreme Court / afe =rTed &1 s BIpIRIRY
2. The Governor / ISIUTc]

3. The Prime minister / T8 HaAT

4, The President / ?quﬁ

Correct Answer :-

« The President / ?quﬁ[

18) Where was the first steel plant set-up in India? / HIRd ¥ ugdr EL ISP ﬁ‘f@ﬂﬁ'ﬂ GOIT YT?
1. Bokaro / SIBRI

2. Jamshedpur / Gm‘«?l_d'ﬂ?

3. Bhadravati / HgTaa!

4. Rourkela / TSBAT

Correct Answer :-

« Jamshedpur / STARIGUR

19) The Election Commission of India was established in the year ./ IR g-1q STIRT B
RITYT a9 7 g% 0t

1. 1961
2. 1950
3. 1947

4. 1954

Correct Answer :-

(7)



» 1950

20) Who amongst the following is the CEO of NITI Aayog? / frifea & & Hifa smarT &1 0
PRIUTA® UG DI g2

1. UK Sinha /g & gt
2. Amitabh Kant / 3THATY &id
3. Aravind Panagariya / 3Rfde =TT

4. Sandhushree Singh / H‘ﬁ‘}ﬁ g

Correct Answer :-

« Amitabh Kant / 3fHaIy &id

A |F E |P
C |1 O |1
E H |? B
1.]
2.K
3.L
4.M

Correct Answer :-

22) Vikram Award is given to / fasa URIEDR e fear sirar %?
1. Young players / gdT @?ﬂg)[

2. Senior coaches / TR BT

3. Senior players / iR f@?ﬂ@ﬁ

4. Support Staff / Hgl-Ph WKh

Correct Answer :-

« Senior players / iR I@@I@f_ |

(8)



23) The first state in India to enact a law on Public Services Delivery Guarantee is ./ A
ar feferast e (ufere wfda f$fas mdh) & Jdu ¥ ST 99 a1eT YR &1 Ugdn s
PH-ATE?

1. Sikkim / RifdeH
2. Andhra Pradesh / Wﬂm
3. Odisha/Gmngl

4. Madhya Pradesh / H&YJ e

Correct Answer :-

« Madhya Pradesh / ¥ o

24) The first deputy Prime Minister of India was ./ HIRd & Ugd SU-UYT FEl
2f

1. Sardar Vallabhbhai Patel / GRGR GeeTHHTS Tl
2. LK. Advani / Q?f% TS aruf

3. Charan Singh / =R Rig

4. Morarji Desai / ORI aql_‘ét

Correct Answer :-

« Sardar Vallabhbhai Patel / GRER GeHHTS Ucd

25) Sanctuary that is located in Sheopur is___ / T IHIRTY wife Y*ﬂ'ﬁ? = | @ %, % |
1. Son Sanctuary / I HIRTY

2. Kuno Sanctuary / ﬁ STHIRTY

3. Bandhavgarh Sanctuary / STUAVG HIRTY

4. Ghatigaon Sanctuary / TS STYARTY

Correct Answer :-

« Kuno Sanctuary / ﬁ STHIRUY

26) The newly instituted Innovative Council of the Indian Railways named as “Kayakalp ¢ is headed by /

%mﬁa%%W’WWWWW@ﬁﬁHWMWWﬁRW@

1. Ratan Tata / Xd- <IcIl

©)



2. Naryana Murthy / :I'ITPJ'UTH:%
3. O.P Bhatt / 31 1 4g

4. K V Kamath / & df STHd

Correct Answer :-

¢ Ratan Tata /3d <IcT

27) Complete the series choosing the missing number: / Yl IBAT JAHY AT DI GRT BITOIC:
1,8, 27, 64,

1. 120

2. 125

3.130

4. 135

Correct Answer :-

« 125

28) Complete the series choosing the missing number: / T TBAT TABR YT DI GRT DITOTL:
3, 8,15, 24,

1.40

2. 30

3.42

4. 35

Correct Answer :-

e 35

29) Complete the series choosing the missing number: / & & TAHR JEaT Ed| WRT HIfE:
2,8, 14, , 34

1. 16

2.24

3.18

4,22
(10)



Correct Answer :-

.« 24

30) Select the option that is true about the Statements and Conclusions given:

Statements:
All radios are paragraphs
No paragraph is a hamlet

Conclusions:
I. Some radios are hamlets
I1. Some hamlets are paragraphs

/ 39 freu &1 I8 HIE S AT T8 YT v fAewdl & IR # g 2
DY:
It T e €

PI$ IRTITH gAdE T8l §

e

1. $ St guaie §

II. $ gHdC IR &

1. only conclusion Il follows / Had By || G‘FJETUTWT%

2. only conclusion | follows / Wﬁ'@?@fl Wm%

3. neither conclusion | nor conclusion Il follows / 7 &1 fert | 3R T8 s 1) WW%
4. both conclusion 1 and Il follows / TGS | 3R 11 G GH\EITUTW%

Correct Answer :-

« neither conclusion | nor conclusion Il follows /71 &1 Y | 3R 71 8t fAsed i) WW%

31) Select the option that is true about the Statements and Conclusions given:

Statements:
Some crayons are pens
Some pens are jeeps

Conclusions:
I. All crayons are jeeps
II. Some crayons are jeeps

| 39 AP &1 au+ Fifore Sife fu e HyET ik fAepul & Ir & 981 8:
DY:
(11)



PO A U9 &

%o 0 oty &

e

I. 9t par Sy §

II. 3 A oY &

1. only conclusion Il follows / Had sy || WW%

2. only conclusion | follows / Had Frpy | WW%

3. neither conclusion | nor conclusion Il follows /qﬁml GﬁTqEﬁﬁﬁlﬂf Il &WW%

4. both conclusion | and Il follows / ftRd | 3R 11 GH1 &WW%

Correct Answer :-

« neither conclusion | nor conclusion Il follows /qﬁﬁ@;ﬁl Gﬁ?:ﬁﬁﬁ'&h—ﬁf I WW%

32) Select the option that is true about the Statements and Conclusions given:

Statements:
All blooms are traps
Some traps are hammocks

Conclusions:
I. Some blooms are hammocks
I1. Some hammocks are traps

/ 39 fareu &1 991 SIfeE Sife ey T Su=T iR Fepuf dp aR A Tl g :
DY:

s ¢u®
PO CUHUAIB &
s

I. O S[H HAID §
Il. $S FHAID ¢U §

1. only conclusion Il follows / & FSHY |1 STTROT FHal &
2. only conclusion | follows / Had ey | WW%
3. neither conclusion | nor conclusion Il follows /:f%p[ﬁfml aﬁ?:r“sﬁﬁwo‘sf 1l mm%

4. both conclusion | and Il follows /ﬁWﬁl G?IT Il c‘:l"ll‘ S{TURT] B %

Correct Answer :-

« only conclusion Il follows / Had By 11 WW%
(12)



33) Select the option that is true about the Statements and Conclusions given:

Statements:
All cars are engines
All engines are trams

Conclusions:
I. All cars are trams
II. All trams are engines

/ 39 fameu &1 991 SIfoE Sife faT 7T Hu=T iR Fepuf dp aR A i g :
DY
N PRI E

gl s e g

foree:

LAt PR e

1. g e g §

1. only conclusion Il follows / Had sy || GF:NTUTWT%

2. only conclusion | follows / Had ey | mm%

3. neither conclusion | nor conclusion Il follows /:f??[ﬁmﬂfl eﬁ??é’fﬁmmf Il &WW%
4. both conclusion 1 and Il follows / fRd | 3R 11 GFI SEWTUTW%

Correct Answer :-

« only conclusion | follows / Had fepy | WW%

34) Find the odd one out: / T& fauH J1d SHifome:
4,6,8,9,10,11,12

1.11

2.6

3.10

4.8

Correct Answer :-

« 11

35) The series given below contains a sequence of numbers. Identify the incorrect

combination: / T & 7€ @w §, WL BT TP HH IURRIA &1 Teid TAIS UgdT-g:

(13)



2,3,57911,13,17
1. 11
2.13
3.7

4.9

Correct Answer :-

36) If ACFJis coded BDGK, then how is IKNR coded? / Gfeé ACFI® BDGK T ®ifsd forar Sirdr
§, 1 IKVR &) &9 DifSa fear srawm?

1. JLOS
2. MORE
3. JLPS

4. RVOM

Correct Answer :-

« JLOS

37) If FOLIAGE s coded EOAILGF, then how is PENSION coded? / gfe FOLIAGE & EOAILGF
A Pifed a1 AT 8, A1 PENSION &) &8 Difed forar SrRm?

1. NEISNOP
2. OPNEINS
3. SNNOPIE

4. EOPINSN

Correct Answer :-

* NEISNOP

38) The series given below contains a sequence of numbers. Identify the incorrect combination: EiEk Tlé
QT ®, TSl ®1 U HH SUfRd B | TTed Jale Ugar-g :

2,6,12, 20, 30, 40

1. 40

2.6
(14)



3.12

4. 30

Correct Answer :-

. 40

39) In a certain code /i eb eep means roses are blue, kis eeh means red flowers and eep tim
eeh means flowers are vegetables.
Then how is red coded?

/

Uh TN BIS UTNT H, /ieb eep &l 3% roses are blue; kis eeh &1 31 red flowersadT eep tim
eeh &1 Y flowers are vegetablesﬁ'clT ?I

@ red 3t A Hifed fomar S
1. kis
2. eeh

3.eb

4. None of the above / SIRIGI H I d‘;lir :I_Eﬁ

Correct Answer :-
e Kkis

40) Choose the number which is different from others in the group: / 3 ST BT IUH P
S e o o wwmeh | s B

17,217,229, 37
1.27
2. 37
3.17

4.29

Correct Answer :-

Topic:- Mental Ability and Mental Aptitude

(15)



1)

Ii the Tollowing two squares shown below overlap, which one oi the Tollowing

options is formed? / Ifg TFT @ @t O 510 &, of @ead & ¥ &id @1 uF
aed adar 2

&
e
L

i

Correct Answer :-

Which of the following is greater than 12%? / TAFaATelad § T hid 12%3’@?;?
203
1. 16

(16)



Correct Answer :-

154
12

3) In the sequence shown below, which figure comes nexi? / =f=r &I & &7 &,
3TaTell JThTCT thiel T 3TN ?

“, o iy
. G Y
., Y 9
_ ) P H

4)

(17)



In the sequence shown below, which figure comes nexi? / @< ¥ 4 & H,

JETCR AT il Hr A4 ?

Al M D] |

i

i 1%

<
&
X
&

Correct Answer :-

X

3 - .
Which of the following is greater than 114—? / Arafelf@aH g &g 11 %@'E{?;T?f?

(18)



Correct Answer :-

240
18

6) Which one of the following four addresses is NOT EXACTLY same as the one given below?

/ 79 33 T R val 9 9 R il T vd & S THE I A1 TP ol 67

Harwerth
Ansgarstr. 4,

Wallenhorst, 49134

(i) Harwerth
Ansgarstr. 4,

Wallenhorst, 49134

(ii) Harwerth
Ansgarstr. 4,

Wallenhorst, 49134

(iii) Harwerth
Ansgarstr. 4,

Wallenhorst, 49184
(iv) Harwerth

Ansgarstr. 4,

Wallenhorst, 49134

(19)



Correct Answer :-

7) Chander has spent Rs. 348 on travel from City A to City B by bus. If he had Rs. 754 with
him, how much money will he have left if he returns from City B to City A in the same way,
and does not spend on anything? / Td3 U 99 §RT TS A T (8T B FI IET W 348 3T ECE]
PRl 81 A ITP URT 754 U €, O ST IR A WEW B I e A a0 die IR 3R fwwdt o awyg
TR Y g HA W 3P U fhaq T si?

1.Rs. 36 / 36 2UU
2.Rs. 116 /116 2UTQ
3.Rs. 58 /58 %UU

4.Rs. 74 [ 74 24U

Correct Answer :-

« Rs. 58 /58 >UUQ

8) Ages of two persons differ by 16 years. If 6 year ago, the elder one be 3 times as old the
younger one, find their present age / &I TRl 1 MY H 16 T6 &7 =R g1 I 6 I¢ U, FT
i B i I 3 1 8T §, dl S9! aaH= 3T FId B

1. 18, 34
2.12,28
3. 16, 32

4. 14, 30

Correct Answer :-

9) Pipes A and B can fill a tank in 20 hrs and 15 hrs respectively. Pipe C can empty the tank in
30 hours. If all the three are open at the same time, then what is the time taken to fill the

tank? / SIAl A 3fiX B U dobl P HHTM: 20 3R 15 B¢ H R G&dl &1 T C P! HY 30 T § @reil
PR Ipdl 21 afe ue g wwa ® goft aferai el €, @t <t A w=A § fraen Twa @@

1.10 hrs / 10 9¢
2.20 hrs /20 d¢
3.15 hrs / 15 ©¢

4.12 hrs / 12 9¢
(20)



Correct Answer :-

e 12hrs/129¢

10) In a party, where there were 200 guests, 60 % had vegetarian food, and 50 % had non
vegetarian, 30 % of guest had both vegetarian and non-vegetarian food. How many people
did not dine at the party? / T& Uit &, forI# 200 A8HT ¥, 60% = HERT HIwH fHar i
50% Y WiATERY Hie fBar| Agam i & 30% A AMHERT 3R TRer el Wi fear urdf &
foram @i A Wie 8) fpar?

1. 40
2.45
3.30

4.35

Correct Answer :-

. 40

11) The greatest 4 - digit number divisible by 2, 3, 4, 5, and 6 is: / 2,3,4,5 3% 6 ¥ faHrsy
TTd TSI 4 P BT &

1. 9,999
2.9,810
3. 9,960

4. 9,870

Correct Answer :-

. 9,960

12) The average age of a class of 12 students is 24. What is the average age of class when
two students of age 22 and 23 leave the class? / 12 faenf¥ay arell wem o1 sivaa smyg 24 adf g1
afg 22 3R 23 Mg & 3 faen<ff v Sis 34 & o Far Ft id 3y Fa1 8 wwEft?

1.22.05 yrs /22.05 9
2.24.3yrs /2439
3.27.5yrs /27.594

4.26yrs /26 T8

Correct Answer :-

(21)



o 243yrs/24.3TY

13) The average marks of each section with 40, 45, 40 students are 70, 65, 80, respectively.
What will be the average marks of all the sections combined? / 40, 45, 40 ey & uw
SUTT & 3T 3 HHRT: 70, 65, 80 & | A} Tgaa STUTN BT SN i FT ghI2

1.754
2.73.5
3.70

4.71.4

Correct Answer :-

14) If 15 % of a number is one-fourth of 60 % of 1225, then the number is: / g TH @7
BT 15%, 1225 F 60% BT TH-ANUTS §, ol I 8:

1. 1525
2. 1225
3. 1275

4. 1200

Correct Answer :-

e 1225

15) A and B can do a piece of work in 30 days, while B and C can do the same in 24 days; and
C and A in 20 days. They all work together for 12 days until B and C leave. How many more
days will it take for A to finish the work? / A 3R B T& &1 %1 30 ol & [T H= AP &, TP
B 3R C ¥ 24 fAi § 1 o7 IHd §, T C 3R A 3 20 & ¥ 1 &% advd g1 d Jft Tpary 12
&l 9% &1 FRd €, 919 9% B 3R C BIS 78l 3d | FR I THTE 1 & o A &) fpa= ok o
A

1.8 days /8 fed

2. 14days / 14 feq

3.12 days /12 e

4.10 days /10feT

Correct Answer :-

« 12days /12 &7
(22)



16) Karnataka Express leaves Bangalore for Delhi at 06:00 p.m. and travels at a speed of 80
kmph. Rajdhani express leaves Delhi for Bangalore at the same time and travels at a speed of
120 kmph. The total distance between Delhi to Bangalore is 3,000 km. How much time will it
take before both the trains meet each other? / PICP Q’él'x‘l'a‘{-[ T 06.00 9 FTAR I et &
fore fApad! @ v 8o et ufa et &1 wifa A gt 81 ;o vty I 99y el @ SR &
o et g o 120 fostlt wfa der 3t wfa 3 Tadt 31 fieel @ @R & dta 3t Fa gt 3,000 fHit
21 SFY YeTTSar uah-goe & e & ugd faraan wwa d e

1.10 hrs /109
2.14hrs /14 4¢
3.15hrs /15 §¢

4.12hrs /127%C

Correct Answer :-

e 15hrs /154c

17) If one number is 80% of the other, and the sum of their squares is 164. Find the

numbers. / Tfe TP TWAT gL AT BT 80% 7, 3R I a1t &1 AT 164 g1 At 3 T F1d B
1. 16, 20
2. 8,10

3.4,5

4, None of the above /SWRigd § 9§ &Is =gl

Correct Answer :-

18) 1 spent 3/5 of my savings and still have Rs. 2,000 left. What were my savings? / 84
ST Td BT 3/5 U Wd o2 fear 3w aift oft IR Uy 2,000 w0 92 €1 A w=a @ A2

1. 4,000
2. 5,000
3. 3,000

4. 6,000

Correct Answer :-



19) Rohit bought a tape recorder for Rs. 1500 and sold it for Rs. 1800. Find the profit
percentage of the tape recorder. / ﬁ%?r Gl U U Rpist & 1500 IUd H WGr 3T 3 1800
0 ¥ 99 faan 3u Reidr &1 ary ufazma gra #31

1. 10%
2.20%

3. 15%
4. None of the above / IWRiad # J HIs Tal

Correct Answer :-

e 20%

20) If the selling price of 16 water bottles is equal to the cost price of 17 water bottles, find

the gain percent earned by the dealer. / 3¢ 16 U @I diaal &1 fawa e 17 U &1 diaal &
Y Y9 P IRIER g, df faopar grr sifola arv wfa=ma sma #31

2

I
%

|

—h
b | =

Qi

(=)
o~

g | o

=

Ll

4,

Correct Answer :-

=~

e |

21) The ratio between the present ages of P and Q is 6:7. If Q is 4 years old than P, what will
be the ratio of the ages of P and Q after 4 years. / P 3{X Q 1 Td¥ 3 & 9 &7 3T 6:7
13 Q P I 4 af 5T ® Y 4 a¥f UyTa P 3R Q T Y HT 3UTd T ERIT?

1.7:9
2.5:8
3.3:8

(24)



4.7:8

Correct Answer :-
« 7.8

22) A wire used to make a square is made into a circle. If the area of the square is 121 sq cm,
then what is the area of the circle? / T& T g4 # UJad IR I TH g1 11 AT AfS 99 BT
AFwd 121 7 Tt 8, A I BT BT T FM?

1.300 sq cm /300 & 9t
2.384.25sq cm / 384.25 9 I
3.154sqcm / 154 o 9t

4.121sqcm /121 97 9+t

Correct Answer :-

« 154sqcm /154 & 9

23) A team has won 10 matches and lost 4. If these matches represent 70% of the matches
to be played, how many more matches should the team has to win, so as to have a record of

75% wins. / U% 3@ A 10 T Sfid 3T 4 R | O T A9 W TR Al &1 70% USRId HId € a9l e
B 3R fpae siftre A9 Siia a1iee a6 75% Sita &1 Rers gl 9il?

1.3
2.5
3.4

4.6

Correct Answer :-

e 5

24) What is the sum of the greatest 3 digit and smallest 4 digit number? / 3 3PIT HeuH
TET 3IR 4 BT TYAW =T T N T 7?2

1. 10998
2. 1999
3.1

4. 10999

Correct Answer :-

(25)



« 1999

25) The series given below contains a sequence of alphabets and numbers. Identify the incorrect
combination: / <19 &Y 71E ga@r #, 3r&RY v "=l &1 v wH fAfga €1 wera Yo ug=nfae:
i.liiioOiiol

......

4. il
Correct Answer :-

e i

26) Find the average. / sﬁwsn?rav‘\fl
64, 67,70,73,77 & 81

1.72

2. 68

3.78

4.75

Correct Answer :-

« 72

27) An ant is trying to climb a slippery slope. Every hour it climbs 5 meters, but slips 3 meters
in the next half hour. How long would it take for the ant to climb 13 meters? / Qﬁ)‘iﬂ"rﬁ
fraas arell ga R T $t BIRA B W 81 g °e at 5 e Tgdl 7, Afp snmat and v 7 3
Hiex fraa Sl 81 13 Hiex 9 918 9eq & forg A& fora=m awa afi?

4 Fn‘.s/ilé'tfcf

b | =

(26)



2.7hrs/7‘€l'%.r
3.6hrs/69C
4.3 hrs /3‘&%

Correct Answer :-

. 7hrs/7'ﬂ%r

28) A train covers a distance of 10 km in 8 min. If its speed is increased by 5 kmph, then the
time taken to cover the same distance will be: / Tdh Qalllé } 8 e # 10 fopt Eﬂg‘ﬂ GUKCTGI
21 afe 3Tt ifa ® 5 5 ufa der @1 9fS 8 e &t Tur= g &Y ag s ¥ o o e g

1.6.5min /6.5 e
2. 6 min / 6 fBFIC
3.7.5min/ 7.5 fiFe
4.7 min / 7 e

Correct Answer :-

« 7.5min/ 7.5 fiFe

29) Xis elder to Y by 20 years. If 5 years back, age of X was twice the age of Y, then find the
present age of Y. / X, Y ¥ 20 9¢ 53T 81 afe 5 af ugq, X &} 3y Y Ft g & gt o, at vy Ft
T 3T T B |

1. 30
2.20
3.25

4. 15

Correct Answer :-

30) Ifa:b::3:7 then whatis (5a+6b) : (a-2b)? /Jafda:b::3:7 %,aa (5a+6b) : (a-2b)
1 8?

1.-11:10
2.-57:11

3.11:10

(27)



4.57:11

Correct Answer :-

e 57:11

Topic:- Science and Simple Arithmetic

D mithe given figure, AB || CD and CD ||EF. If ZCEF=115"and

£BCE=10°then ,ABC= ./ v 7ir To= & AB | CD3T CD || EF. afg £CEF =115° g1 2BCE
=10°ar £ABC=__|

A B

¥
M

@]
Y
)

1. 50°
2.70°
3. 58°
4.75°

Correct Answer :-

o 75°

2 Find'x if(E)E x ( E)B = (%)2’H Loy afg ( E)z X ( E)B = (%)Ex—: Ly’

I Al AT B

1.2



3) In the given figure, 'O’ is the center of a circle and if £CBD =42°, then £AOC = i feT AT /A
#, 'O god & e & AT AR £CBD =42 dr cAOC= |

1. 88°
2.72°
3.74°

4. 84°

Correct Answer :-

. 84°

4)  One side of a parallelogram is 6.8 cm and if the other side is% times the first then the perimeter of the
parallelogram is: f Waﬂﬂiﬁ % TE 4T 6.8 AT, § AT Afg Qj\‘:lil 8atT qgell Eﬁf% E‘l?-ﬁ'
g, dr THIR Il & UNATT glem:

L e B |

1. 34 cm /34 9.
2. 28 cm /28 I,
3. 36 cm /36 T,

4. 42 cm /42 I,

Correct Answer :-

e 34 cm/34 THL

(29)



Language Hindi | English | Malavalam | Kannada | Tamil | Total

STHT TEar AT O H Therlg GG el

Mo. of students
40 35 10 10 3 100
TIEN ohT HEdT

When the above datais presented in a pie chart, the central angle for the sector representing English
language is: / 3@'3%31.@3 q15 I7c ﬁﬁﬁﬁ?ﬂ'aﬁ &, O 3= oT9T &I FeNd Sl
dlel 3AaWS T hegd HIT

1. 150°

2.132°

3. 126°

4. 120°

Correct Answer :-

o 126°

6) _ cean ¥-B-4 7, y=(3-40 _7 i
Find the value of %' in ﬁ =. ﬁ =- # 'V = " AT HL)

=2+ 530 4 Sy =12+ 53y 4

1.3

2.5

3.2

4.1

Correct Answer :-

7) ‘Litmus’, a natural dye is obtained from ./ Ferew W‘I@‘ﬁﬁ? IoIP, 3

T i B

1. Beetroot / ehax
2. Blue berries / @Laﬁ

3. Lichen / Qg
4. China rose / 3H T

(30)



Correct Answer :-

« Lichen / @TgH

8) On what sum will the compound interest at 10% per annum for 2 years compounded annually be Rs.

7562 / TFa <RIRI TR 10% & TS Tohgies T W 2 T4 F 756 TUA TS B SN2
1. Rs. 3600/ 3600 31

2. Rs. 2950 / 2950 U

3. Rs. 3750/ 3750 T0

4, Rs. 2800 / 2800 3UT

Correct Answer :-

« Rs. 3600 /3600 3ud

9) If the perimeter of a square is 32 cm, then the length of its diagonal is: / afe a3t o1 iy 32 S, %, ar

U [J&l $1 wars sl

i 1242 cm 7 1242 o

5 82 cm f 82 T

3.10 cm/ 10 9.

4,12 cm/ 12 99,

Correct Answer :-

. 82 em / 82 &=

10) If720=2x5xa,thenthevalue0f'a'=_./€Iﬁ720=2xSxa,T‘ﬁ'a'W'FI'F-I=_
1.9
2.7
3.15

4.18

Correct Answer :-
e 18
(31)



11) In human beings, sound is produced by the: / HJ® T eafy &1 m{\‘:ﬁ?m HGIGE
1. Larynx / S

2. Trachea / W:ﬁﬁ

3. Thyroid / \?r[?@’}lfﬁ

4, Epiglottis / h3G

Correct Answer :-

o Larynx / Ce)

12) An event management team tried to arrange 9610 chairs in the form of a square, but found that 6
chairs were being left out. How many chairs were there in each row? /W%ﬁf Aqerde 9+ 9610 ?ﬁh’f
P T & U H IIRYT FI4 BT YA {541, Afp=1 3611 arn i 6 Fiiai s 15 & s il &
et RYai 2

1. 94
2. 86
3. 89

4.98

Correct Answer :-

e 98

13) The base of a parallelogram is twice its height. If the area is 648 cmz, then its base is: / Wﬂ'g"{-l\_rr

BT YR SAD! SHATg BT &l A1 3 | (S &TBA 648 I F. B, A YR FII:
1.28 cm /28 Y.
2. 32 cm /32 9.
3. 24 cm /24 G,

4.36 cm /36 99,

Correct Answer :-

e 36 cm/36 9

14) The speed of light in vacuum is: / frafa & yem w5t wfa Gl %:

(32)



1.3x 1010 mys
2.3x 103 m/s
3.2x 108 m/s
4.2.25x 108 m/s

Correct Answer :-

o 3x 108 m/s

15) The circumference of the base of a cylinder is 44 cm and if its height is 12 cm, then the volume of the

cylinder is: / 9T & 3MYR BT GRS 44 J7H. 3 3R 3l 30 Fa1s 12 . B, ) 99 BT 3G STm:
1. 2642 cm? / 2642 T 1.
2. 1848 cm? / 1848 B QY.
3. 2468 cm? / 2468 T I,
4. 1682 cm? / 1682 T I,

Correct Answer :-

o 1848 cm? /1848 T T,

16) The fuel used in nuclear power plant is: / Ty wfed ST o Ugod Eﬁe[ qrer '5‘%|=r %z
1. Gasoline / TG
2. Gold / Gl

3. Uranium / aﬁﬁm
4. Radium / 3fSTH

Correct Answer :-

e Uranium / agﬁ'ﬂ"-'l

17) Who coined the term protoplasm? / Ug s faa yfaurfed faar?
1. Robert Brown / J1&C SIS

2. Robert Hook / ﬁa_ff@'a;

3. Rudolf Virchow / ¥ 1% fagf

(33)



4. Purkinji / QRfdrol
Correct Answer :-

 Purkinji /Eﬁﬁo@[

18) The German engineers, Ruska and Knoll are known for their invention of: /| STHT E'Trﬂﬁ'qT, BIDT dUT
Fia v e SifasepR & forg oM ord &

1. Microbes / G&TSIq

2. Microscope/ﬁmﬁ

3. Laser / TR

4. Electron microscope /@Eﬁﬁm

Correct Answer :-

« Electron microscope / 3’@1’3@\'\[}:[ ﬁ&{I—c{-‘lﬁ

19) Which of the following is a green-house gas? / Ffeddsadfiaecsaias
1. Hydrogen / €|33-A|\_Y|:l
2. Methane / H2

3. Oxygen / NIICNISE]
4. Nitrogen / '—‘lléa;lGI:I

Correct Answer :-
¢ Methane / f@:f

20) Even though Silver is the best conductor of electricity, yet it is not used to make electric

wires because: /gTdiP Tid! facTell &1 ASaH Hargs® g, fb +f sHST saqTa faerell & aRY 31
T4 & fere =Y foean wirar & wifes:

1. It is not ductile /H_E'W:I_Epf%l
2. Itis a shiny metal /W@W%ﬂﬁ%l

3. It has low tensile strength / 30 <JAdqH a-H-am2f g
4. It is very expensive / H%’EEHIIET?[%I

Correct Answer :-

« It is very expensive / U8 Sgd W g

(34)



21) When 4x5 + 12x4 + 3x3 -2x2 is divided by 2x2, the degree of the quotient obtained is: /

9 4x6 + 12x4 + 3x3 -2x2 B 2x2 | fyHIfora fvar Sirar €, 9 Ured HIThd $1 Sife gl 8:
1.2
2.3
3.4

4.1

Correct Answer :-

22) have dark and light bands. / H TgY qUT e §Y B T
1. Smooth muscles / I URI

2. Car‘rilage/C’fCﬂ']:@r

3. Striated muscles / YRIGR U=

4. Bones / 3if¥Y

Correct Answer :-

« Striated muscles / YRR Ut

23) The outermost covering of the cell is called . | DIRADT HT ITETGH HTIRT
Pgard gl

1. chloroplast / RGNEED

2. cytoplasm / PITRIBIGH

3. cell membrane / SITRTeRT Il
4. cell sap | DIRHT I

Correct Answer :-

« cell membrane / BT %c_vﬁ

24) Prepared food is carried from leaves to different parts by . / Fffa visE, ufat @
fafirr wrly A ERT & ST ST &

1. Phloem /‘Wﬁ@

(35)



2. Vascular tissue / ar%m Hdd
3. Xylem IASIEL
4, None of the above/mﬁﬁﬁéﬁ

Correct Answer :-

¢ Phloem /W

25) Positive terminal inside a dry cell is made of: / [ Id & WA Y-THS efii-a e &1 9771

g 8:

1. Zinc rod / Waﬁ@g

2. Aluminium rod / TegHIATH B TS
3. Brass rod / @i &I ElS)

4. Carbon rod / BTa P EE]

Correct Answer :-

« Carbon rod / & Pt EXS)

26) The brown alga used in the production of potassium and iodine is: / TRy 3R S
& IcUTeT | Wga g araT 43T A9Td 7:

1. Gelidium / i SaH
2. Laminaria / IRl
3. Sargassum / IRIH
4. Porphyra / ORI

Correct Answer :-

« Laminaria / SRR

27) The vein that does not transport deoxygenated blood is . / fasiieii e
SRR uRae 7 4 arell BRI gl

1. superior vena cava / 3»¢d HGIRRT (JHIRTR 9T H1dT)

2. pulmonary vein / UpH RRT (TEHRT d1)

3. hepatic portal vein / T%d fHarfeedT BRT (Y% Uicd o)
4. renal vein /g RRT (37d 99)

(36)



Correct Answer :-

 pulmonary vein / HUpY RR1 (qaﬂﬁ?"raﬂ)

28) A shopkeeper allows a discount of 10% and still makes a profit of 20%. If an article is marked
Rs. 460, then his cost price is: / TP GHER 10% DI Fe T § 3R bR WY 20% a1y ure w=ar g1
Tfe I I W 460 U Y4 3ifhd 8, O SHBT AN Yd 7:

1.Rs. 414/ 414 304
2.Rs. 420 / 420 30
3.Rs. 345/ 34530

4. Rs. 380/ 380 U4

Correct Answer :-

« Rs. 345/ 34530y

29) Polio Eradication Programme are chalked out by state governments, because: / ITsd WHRI &
R iR =@ i H duR foar sirar § «ifes:

1. Vaccination creates immunity in the body /?ﬁmw IRR ﬁUﬁT&ﬂWﬁWW%I
2. Vaccination kills the disease causing organisms/mmmmaﬁ@aﬁwm%l

3. Vaccine prevents the entry of disease causing organisms / IBTHT I ST B aldd Siidi b U= bl
AT g |

4. All the above / Iuyad Tt

Correct Answer :-

« Vaccination creates immunity in the body/?ﬁ&ﬂm IRR ﬁcﬁﬁ?&nmﬁm’mw%l

30) The product of (3x - 4y)(3x + 4y)(9x2 + 16y2) is: / (3x - 4y)(3x + 4y)(9x2 + 16y2) BT [UHA

B

1. 81x2 - 256y
2. 81x* - 256y*

3. 81x* + 256y*
4. 81x2 + 256y>

Correct Answer :-

« 81x*-256y*
(37)






